(2) H“ﬂm?mw%[

. Discuss the sources of Hindy [

HINDULAW AND poypq Ef,iil\;l: 2011
s T 3 T fafy >
gof: 3 1O M.M.: 150
o (1) Answer SIX questions, tak; _
yote @) All questions carry equ; Illl]lagrl:lsl.ree from each part.

A@aﬁgzgﬁﬁwi‘l

PART-I

' _ aw. Outline the three main
differences between Mltaksharal and Dayabhaga schools.

feg fafr = il =it fererse sy THier wo < e
qH AUl 3= &1 Ieei SHifeg

. Discuss the concept of marriage under Hinud Law. What are the

foactors which nullify the marriage?
&g fafy o foaw =t s/uron =1 wfien Q) 73 Tl @&

oo HIfSY T R W foame w1y sifta fean st wsa
&

+ What are the various grounds for divorce under Hindu Marriage

Act, 19557 Discuss.

&g feme arfufrm, 1955 # o & fafer= YR &1 T

Fifsr) !

+ Write short notes on the following:

Fretffem w g feorforal fafe:
(2) Hindu Undivided Family

&= sifgumfsa afer
(b) Essentials of a'valid endowment

Y g & STEvEE T . |
What are the effects of adoption? Can adoption be revoked?

S % o w87 w—qazmrwﬁw.MGnm%?
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. PART-11
i i d i im Law
6. Discuss the various sources of Muslim ,
| gfem fafu & fafe= =@l &1 Sea@ Hifsg
7. Write short notes on any two of the follown?g:
frefafe & @ fFel QW wiw femfie fafe,
(a) Iddat
gRd
(b) Mutawalli
LGEEI]

(c) Acknowledgement
fEteRR

Discuss the law relating to Wakf under Muslim Law,
Wqﬁfuﬂawﬁmﬁaaﬁfammmm|

Describe the provisions relating to divorce under Muslip Lay,
Can a Muslim woman take divorce from her husband?

giem fafy ¥ qars @ st Taus w1 seere witm g
T i wfgen o ufq ¥ qeed W R gEd 3

Explain the various forms of marriages under Muslim Law. Also
enumerate the points of distinction between them.

Wﬂﬁuﬁmﬁﬁmmwmaﬁmlm
TER A o e Fif

10.

BIHAR JUDICIAL SERVICE EXAM. 201!
LAW OF CONTRACTS AND TORTS

Wi aar v fafy

TIME: 3 HRS.

MM 1)

Note: (1) Answer six questions, taking three from each part :
(2) All questions carry equal marks.

A (1) mﬂmﬁ?ﬁ?M*ﬂw?}é‘gpm@ uﬁ’i"*’}ﬁc
(2) vt v wm e
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PART-]
«pn offer cannot be accepted y

" jothe person to whom it is
communication of an offer

Jecisions. Distinguish betwe erand invitat;
' TS ST IR S e R ey e i,
. T 8, 39 S o
T8 9 S TR T 2 e g s 3 _
27 W& H A
7d 1 BN €2 =P Frof o \
FeTd T T 1 s f smm wif)
. Thetwo f“‘.‘dafncma]‘Pf(_)Pf)silions of English law are “privity of
consideration’ and ‘privity of contract’. Elab
principles and their acceptability in India.
‘ofawd @1 HO' SR ‘Gfa @ g s fafy & < gaga
afeomd 81 I fagTl U SRt i § w5 R |
el HifeTd| |
. The question whether the contract is void or voidable presupposes
the existence of a contract within the meaning of the Act, and
cnanot arise in the case of an infant. In this context, explain the
nature of a minor’s agreement and its effectiveness. Can a minor

be allowed to enforce a contract which is of some benefit to him?
Explain.

T W for Wi g € A e giaa AfufEE & s o
TR forrm 2 R € el € R e ST & AR H I T
B e T ] SR @ R TF T T WA
W wfisy) g1 FE SO A HY B F A WA
I 1 Rt 7 TR iUl

' “Anagreement to do an act impossible in itself is void.” Referring
this statement, explain the doctrine of frustration’ and _the specific
grounds of frustration. N .
Sy wd w F FR A 8 W OF F W |
S @ fre! R T BT SR T % fafie
R Y e - .
" Byery p rty injured by the breach of a contract may bring an
etion for damages and every action for damages raises certain

dnltiss and l'mtil it has been broy ght
¢.” What is an offer? When is the

Ompleted? Illustrate with fdie:
en off ¢ with judicial

orate the two
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- Rylands v. Fleteher, In reference to the said rule, claborate

1200]

problems. Dl\Lll\\th,plUMLHII aised inevery action for aMmageg
Tl aTRR S Wiaa & Seeied O wifma gan € AIRRIRECH hq
WA WA ¥ as Wl ghogfid w) wrlad W s o :
ST B T Al A vk e N s wen w) |
sy

PART-11
The rule in Rylands v. Fletcher is interpreted in the light of (he

constitutional provisions by the Supreme Court in M.C. Meht;

ay,
Union of India [(1987) 1 SC 395]. Explain the rule |

aid down i |

the |
corresponding development in India with reference to the |

aforementioned statement. {
THRITS TN WA D R e W e @ g
[(1987) 1 SC 395] H I=9d9 =M™ g1 HANfS Iuai &
YA H freem fmn mn ) wcive wm weeR W aififiifg
few e fram =i saren St w @ e S g Y g |
fawm = ST Fuwm & w=d F =rEn it ‘ '
Sir Barnes Peacock, Chief Justice of the former Supreme Court
of Calcutta, in P&O Steam Navigation Company v. Secretary of |
State for the Indian Council, held the Government liable for |
damages for injury due to negligence of some of its servants, as ]
far back asin 1861. Subsequently, this decision was overruled in
Kasturilal and Ralia Ram and the theory of sovereign immunity |
was upheld. In regard to this, discuss the concept of sovereign |

immunity and its dwclopmcnt till date, with the help of judicial "1
decisions.

WWW,Wéwm&ﬁmmaﬁami
ZR T TS 3o WIH ATINH Foo) T oy wige, Rera 1 |
o wgd T8 1861 ¥ Freifia foren o e o et o 99 |
g frg e W g afa a9 afigfl @ foo soern §1a
Wﬁ@ﬁmsﬁ?ﬁmmﬁgmﬁmwﬁ
e & fagr B whRe ¥ i f man g e 4
éﬁ@amwmﬁv@aﬁm@wwﬁmm@
3 e, T [AHE H e wif ‘
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| _ [201)
“In an action for malie;
IC10ug .
first, that he was ip Prosecution_ | C o
] < 1 s LN
o ehe o 10cent, ang Secord Plaintiff has to prove,
reasonable and probape cause " W1 nd, that there was want of
- Wha

Exp.la.m the essentialg 14 be pr tis malicious prosecution?
malicious prosecution. Proved in a suit for damages for

“The dut - : - -
Th Y to take care arise out o various relations which it may

not be p0§51ble to enumerate exhaustively and the courts recognize
‘new duties’ when they think that to be just.”

In reference to the ‘new duties’ in the above statement, elaborate

the concept of duty of care with reference to duty of care in
medical profession. '

e s @ e T S EeE F1 Fwer i fawgd =
ﬁaﬁhmmmnaﬂﬁémﬁnwmmm
2 f wmn T et S S T T R e A S e
Eﬂéﬂﬁ?ﬁmﬁ‘?&ﬁw’%wﬁﬁmaﬁréﬁwﬁ
mmﬁﬁ%mﬁwmﬁ%ﬁw%wmﬁ
; o .. 5ot arule of law. It is a rule of
The maxim ‘res ipsa loquitur” 15 notat law. It

CVidenée benefiting the plaintiff by not requiring him to prove

llli gbigf]?:zi)ove statement by explaining the maxim with referencg
gltc;i;ie;l;;cision& i EFT fromm 71'6')[ 2| I8 TH IRl & FHES
' : 5 ' AT
%mmwaﬂﬁm%mﬁ@@wmmm
T 21 s e § SO GF I Sl ET
fyofalf < T kS
S e B AT | |

- Wifeq shifel
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BIHARJUDICIALSERVICE EXAM. 2011
COMMERCIAL LAW
ot Tafer

TIME: 3 HRS. M.M.: 150
Note: (1) Answer six questions, taking at least one from each Group,
(2) Marks are indicated against each question.
qE: (1) ¥IF @IS 4 FA-H-FH Teh WA &1 H 997 FW g0
B: W & IW 2
(2) TG U9 # 3iF o9 ¥ fXu U g

GROUP-I (Sale of Goods Act)
1. (a) “A buyer cannot acquire better title to the goods than what the

seller has.” Explain it and discuss the important exceptions to this
rule. 15

fer fasa = v 21" o= faawT Fifeg ik w0 fem & g
3TUAR] T Ieord HITAU

1. (b) What do you mean by ‘delivery’? Discuss the rules regarding
delivery of goods. 10
'R | 3T T WA €2 Wi W ¥ getyg faw) 9 e
T

2. Define the following: 10+10+5

fr=fatea =1 o <
(@) Sale and Agreement to Sell fasa 9 famg w1
(b) Conditions and Warranties Wfiay 3 stenyfm
(c) Unpaid Seller 39 g

GROUP-II (Negotiable Instrument Act)

3. (a) Distinguish between “Transfer by Negotiation® and ‘ Transfer by
- Assignment’. | 10

‘IR N A0 UE HEARYE B s’ § o T

1S




3, (b) Does amaterial glgopy:

[s there any CXception to thig
of the following alteratiopgo

(i) Date Allcralion.
(i1) “Three Mongjyg After

Nstrument make it void?
lain. What arc the effects
15

altereq ¢

. Three Months A fter Sight’
qu;ﬁﬂgmﬁ@irﬁmmvﬁﬁaaﬁmm”/ww
HITR 87 TS Tegpmy fer “ff TR 'ﬂjrﬁ
A TR iy, S R 'T
() T afedy
(@) ‘ﬁ#@a’*ﬁ?%m'wvﬁaﬁWMW‘ﬁﬁmﬁﬁ
RIGECICY

1.(a) Who is a holder of dye course? Wh

atrights are available to him
as such holder?

15
efafy maﬂaﬁm%?ﬁw%ﬁaﬁ@wwﬂwmm |
27

b) Explain the penal provision regarding a cheque that bounces for
insufficiency of funds. 10

Ty YR & RO 999 ST U % w=y ¥ = qvg @
Y] 1 == i) |
GROUP-C (Copmpany Law)

. (a) Discuss the positions of company directors. 15
S & Fdymenl w1 feafa &t fae=m sifsm)

S (b) Under what circumstances can winding up of a company by t}llg
Court be possible? |
U ot 7 fepey ggmetl A =IO gR1 WHIG o2 ST wehan 27

- of Association? How can
Wh an by Memorandum : |
an éltt)j(eigty:;:ur:: (be a)l/tered? Discuss the effect of ‘Doctrine of

25

U o tion of Memorandum.

e s S g e ST 4 fom
;qu 5 : m.ﬁmﬁﬁm éumaﬁ

Witaq ifsg|

4

y
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7. (a) What do you mean by ‘Misstatement in Prospectus*? D;
the liability for misstatement in prospectus.
faaor-ufsemt ® favamrert’ 9 @ =0 g €7 faam_uhs
e & wfae =t fqa=m Hif

7. (b) What are the kinds of winding-up of the company? Explaip in{i
detail. 10
Forl famed % fre w82 whmm freon A

GROUP-D (Partnership)

8. (a) What are the essentials of partnership business? Expl
"Doctrine of Holding Out’ and discuss its exceptions. 15

TR AR % AEYTE 0 S 82wy aqaarm%m%
e 1 = FiR R v e w1 seew wHiwy
8. (b) Can a minor be admitted to partnership? If so, what will be his

rights and liabilities during his minority and after he has attained 1
majority? 103
=1 fordh AT B W F g o o wwan 27 4R o, 1
SR TTTEHA Hi T H T ITH A A A AR I
AR a1 wh
9.  Whatare the rights and obl; gations of a retiring partner? Explain ;;
in detail. 253

v 9ERR & sier mﬂﬁaw@maﬂhﬁﬁm

10. (a) Underwhat circumstances can a partnership firm be dissolved
by the court? 153

mw&ﬁﬁwmﬁtﬁﬁmmmwﬁmw
el 22 '

10. (b) What are the consequences if a parternship firm is not
registered? , 10

T W 4 F G 5 3 & gy qfong 29 87

ain the !
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|;I||/\R.lUl)ICI/\LSERV 'EF
LAW OF EVIDENCY: ICE EXAM. 2011

AND PROCEDURE
W& Uy fafy
[IME: 3 HRS,

M.M.: 150
Note: (1) Answer six questions, taking twe
and one frop cach from
(2) Marks are Indicate
Az (1) |/ B e 9 o

Ueh-Teh s

. from G . -
Group B, 1hroup-A, two from

Group-C and Group-D
aganst cach question,

AR 7l{'| ql YWUE-7; ':'q, ar TATZ-TT H 3
U USRS
(2) WOUF W % 3% a1 ¥ frg ¥
GROUP-A
1. (a) Mention the persons entitled to exem
appearance in court under the Civil Procedure Code. 15
fi?faauﬁ:mﬁfmzﬁwﬁ?fmwﬁaﬁfﬁmﬁﬁm
SUEAE | w2 4w @2
Explain the provisions relating to exemption from arrest under
the Civil Procedure Code. 15
Fafaet wfoman wfem & @i freard 3 w2 % waum = w9z
2(a) Explain the meaning of the following terms: 15
frafafea & a4 guemu:
(i) Decree fzwt
(ii) Legal representative fafue wfafafy
(iii) Public officer @iieh TR

2. (b) What are the provisions under the Civil Procedure Code relating
to suits by or against Government? 15

TR g A1 TR & favs 9r &, fafaa ofma sfea & s
HAY] T TIAG N

3 (a) Write notes on any three of the folloxt ing:
frafafe 4 @ fF=l 91 T ﬁWﬁW fafan;
(i) Temporary injunction el favT

ption from personal

1. (b)

15
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(ii) Suit of civil nature Zar Y =1 =g
(iii) Second appeal fieita erdie
(iv) Stay of suit =1 =1 Tk fez s .
3. (b) What remedies are available for setting aside ex parte decree? 15
GROUP B i
5. Write notes on any three of the following: 25 4
frfafen & @ frel W9 w femfir? fofoo.
(a) Estoppel faaya
(b) Conclusive proof fAv=mas Hed
(¢) Cross-examination it 6} firdten

(d) Circumstantial evidence ftfefisr= e ]
6. (a) Explain the meaning of the following; 15 4

fafefen = s aremEy.

(1) Proved yHifurg

(i) Disproved 319Hiforg

(iii) Not proved ymiforq =12 =) gan

6. (b) Explain an accomplice. How far and to what extent the testimony ;'
of an accomplice can be relied upon? 10

Te-fage &1 saren Fif e-a1fga #t T w9 _5
Tt W e favaeta o w1 g 22 | |
GROUP-C

7. (a) Explain the provisions relatin
to arbitration.

WW#HW%WW%%WW@@W% :i
EERIEAIci s o | ]
7. (b) What are the powers of court for

g to disputes which can be referred

granting interim relief to the

parties in respect of arbitration? 10 3
nww%aﬁﬁwﬁaﬁﬁmﬁqmﬁﬁmwﬁ T
B '

8. (a) Explain the grounds on which the appointment of an arbitratof f_
can be challenged., 10 §
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e i Tgfa &) _ \
32 mﬁWWW%WWﬂW

g (b) Under what circumstances an arb

the court? Itral award may be set aside by

. N 10

WWﬁWHWa’*mﬁmeﬁ
GROUP-D

9, (2) “Bail can only be a matter of discretion if the offence is non-

balla'ble a}ld the scope -of discretion depends upon various
considerations." Discuss. 10

ST TSI TG0 W eheret Wladamiar & 3iR afeaeniiemR
fafo= amurl W Rk =5 21" wwmw

9, (b) When can the Magistrate cancel the order of maintenance to

wife? _ - 10
AR Fa Tl T AW WO G0 B TR F T H GeHAl 82
10. (a) When can police arrest a person without warrant? 10

an= @ 9 ¥ gfeg fre wafa ® FE AR FT Td €2
10. (b) What are the guidelines laid down by the Supreme Court for
the police while arresting a judicial officer? 10

et o =i At & fReR & & o gfed =i ==
W‘mﬁi‘ﬁmﬁﬁwﬁﬁ?ﬁwwmm%?

BIHAR JUDICIAL SERVICE EXAM. 2011
ELEMENTARY GENERAL SCIENCE

TIME: 3 HRS., M.M.: 100

Note; (1) There are five Sections in the question paper. Answer one

question from each Section |
(2) Marks are indicated against each question.
T (1) vq ygr-ag A T @S §1 FEE TS W TH T FIW A

(2) yei o & ofF o A U T E
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SECTION-A
1. (a) What for the following devices are }xs?d? S I>10< 10
et T= 1 S9A (e e % fau 2E 27
(i) Thermostat / Wﬁ‘?ﬂf X
(ii) Vacuum-cleaner / d5H-FL
(iii) Telex /e
(iv) Polygraph / 9ieiias
(v) Radar / TR
(vi) Seismograph / =TS
(vii) Stethoscope / R UT=hTT
(viii) Periscope / Ufi&g
(ix) Endoscope / T==T&=h1g
(x) Escalator / T&heieX
1. (b) Differentiate between the following:
Fefetad 4 R w= Fifa.
(i) Transformer and Dynamo
JEGR T ST
(ii) Voltmeter and Potentiometer
e Te drRfemEe
(ii1) Taximeter and Tokometer
35 et S S
(iv) Ammeter and Galvanometer
Ui T Tedafe
(v) Velocity and Acceleration
T T Tiergy
2. (a) Write scientific explanation of the following: 5%
(1) In the solution of soap large bubble can be produced
' "qﬁﬁiﬁ’ﬁa‘fagTEﬁ%ﬁTHWHIETGEHT%
(i) Bicycle Pump becomes hot while pumping air in the T

.

11
_..U,
= I\

=
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write short notes on the following: x4 =10
0  Afafd 9 HiA feofirar fafe;
/\pplic:lti()ns‘ni'luscr
e ceCIERRIN
Applicalions of photocelectrie cells
weiefded val @ i
SECTION B
{ (;,)li.\pl:lin thcriiﬂ‘crcncc hcl\\‘gcn the following;: 5%72=10
© fefatad 7 3l e ifsiu;
(i) Solar eclipse and Lunar cclipse
el U TRIE
(i) Rotation and Revolution of carth
gezl 1 YU TE TR
1 (b) Explain, why:
qagy,

(i) Human breath is visible in winter but not in summer
(ii) Food is cooked quickly in a pressure cooker
JYR @ W @M ¥ T S i
\.(a) Explain the following:
frefafea @ = S
(i) Plate tectonics ¢ 2T
(i) Asteroid TRUTS
(iii) Ozonosphere TR
(iv) Computer virus FPH TR

‘ (V) Hybrid vehicles gT3fa8 @me-
') Differcntiate between the following: | 2%5=10

Frfafan & s e Hif:

(i) RAM and ROM /T T

(if) Bit and Byte / fae T @1%<

(iii) Hardware and Software / FrEAdl W GiREa

(iv) Hard disc and Floppy disc /818 fs&h T Wit fezh
(¥) Mouse and Curser key / 7199 Td HH-h!

(i)

(i1)

522=10

2x5=10

h




-

SECTION ¢
5. (a) Brietly explain the tollowing:
IBESIGIES RS MRS IR IR I LR
(1) Heavy water / 881 €Y
(i1) Safety glass / WUEl @A™
(iil) Biogas / ST
(iv) Plaster of Paris / WIS 31w YRy

(v) Gypsum / 5o
5. (b) Give scientitfic explanation of the following;: 2x5=1
frafafen =t dwife smen st

(1) Sometimes milk turns sour
J-FI Y W B S ©
(11) It is fatal to have coal fire burning in closed room
T W H HIIA! STH QAT WG Bl ©
(i.ii) A sliced apple on exposure to air truns brown after sometine
F WS | THT TN 9G4 7 Sl ©
(1v) A petrol fire cannot be extinguished by pouring water overit
U § ol A w1 ue | € g S 9w
(v) We feel difficulty in breathing on high mountains
T TEA W HE O § SR w §
6. (a) Explain the difference between the following: 4x2=8
fr=fafed § s = Sifs;
(i) Oils and Fats / & T& &4
(it) Soap and Detergent / 91s[ ©d ware®
6. (b) Enlist the uses of the following: . o 2 x4=!
frerfafen % seam e |
(i) Teflon / T&=T
(ii) Crown glass / W?F{ T
(iii) Platinum / <Afe"g
(iv) Tear gas / 31 T 4=
6. (c) Write full forms of the following abbreviation: 1
Frafafed da &0 = gl vy § fafem:
(i) RDX / 3IRsEluao
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(11) CNG / .{ﬂ“m{ﬁ?ﬂ\,
(i) LSD / T
(iv) MIC / THeSTGHTo
SECTION D

() Give brictanswer to the following:

rfafea & Wl W s,
(i) What is Bt brinjal?
fedte ATH AT B2
(it) What is groundwater table?
TEE TR IS H T ¢
(iii) What is altruistic behaviour?
wefdT SRl = Bhar @2
(iv) What is smog?
T B W2
(v) What is Jhuming cultivation?

g @t w7 272

.(b) Distinguish between the following:

H

frefafed 5 TR T whifsg:
(1) Butterfly and Moth
foaelt wd gam

(i) Poisonous and Non-poisonous snake

fatet we fawes gu
(iii) Apes and Man
T T T

- (iv) Monocots and Dicots

Thstorst we fgaftsr=
(V) Predation and Parasitism

THEOT TS gL ferdl

Y What would be the consequences, if—

, % g7 qfom B, A

(i) Organisms failed to reproduce

St o g 8 SG

(i Organisms become immortal?
St s gt wmi?

2x5=10
2x5=10
5x2=10
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8. (b)Name the protein present in-each of the following; .
fr=fafea 7 Iufeem 9= =1 w9 fafem. 6
(1) Hair / <1 ‘
(i) Human red blood cells / AMd AT &4 $\fsm@"
(i) Milk /<y
(iv) Islets of Langerhans / HEF\‘{H NF TREg
(v) Saliva / @R
(vi) Wheat / &
8. (¢) Name the process involved in the fo]]owmg I xdq<

frefafen & sF-9 sfea wfg o ?? | B

(1) Swelling or raisins in water

¥ q@ S e

- (ii) Intake of fluids through cell membrane

HITH foreeht 510 55 R wEwr wen
(iii) Creation of RBC

A o HIRTERIST T T
(1v) Intake of solids through cell membrane
hiferR oot gri S vl =) e Easit
o SECTION E
9, (a) Explain the following; 2x5=10

fr=fafea =t a9emE;

(i) Pheromones / %A
(if) Demography / SHHifETat

| (iii) Greenhouse effect / Mg 9919

(iv) Biosphere reserve / Stamues IRfera &

(v) Biomagnification / SRAfARERyH

8 (b) Name the cell organelle which acts as the following: 17 A
IR STaa w1 T fafen, tvh g HM HW©
(i) Powerhouse of cell
*HITRT T fasTeli-=R
(11) Post-office of cell
IR 6T STH-T
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(i) Suicidal bags of cell
FITRT & TR 9%
\)Enome of cell
HIfTERT T 3
Q) Which virus causes swine f]y?
@ W 69 9w ¥ g 22
(ii) What is the perm1551ble noise level in residential areas‘7
ard & W S W i wR e

(iif) Name the scientist associated with ‘origin of speices by
natural selection’.

SR S T a g e e daPe
51 ©7

(iv) Which branch of science deals with solving the cases of civil
and criminal laws?

faam & SiF- e fafaa 9 s g # e Hid
§ Wy @t 82
(v) Name a mammal which flies like birds.

Tefi-Si I ATel T WU 1 TH SRy

(vi) Which pigment is responsible for green colour of leaves in
~ 1x6=6

(0

plants?
Yo & et w7 T 1 A G & HRO €Al 87
. (3) Name the subject to which these famougs scientists are

associated? Ix5=5

3 foreg Saif g A Y e W E2
(1) Srinivash Ramanujan
(ii) C.V. Raman

o dfe T
(iii) Birbal. Sahni
- SREe qEAl
(iv) Shanti Swarup Bhatnagar

i wWwy 9
.'.(") Homi J. Bhabha

R o aq1eT
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10.  (b) (i) Name the disease caused by deficiency of Vitamin p
ST €t =1 #i ¥ TR et T Bit:
(i1) Name the enzyme which helps in the digestion of fatg.
S H U H B T e w3
(i1i) Name the bacterium that causes Leprosy.

N~ o~

AU dERT R dfeefan § et
(1v) Name the bacterium that causes tetanus,
feotg M frw Sfefa § 2

(V) Name the vitamim whose deficiency

causes night blindnesg

1 x5=3
Wil e foafe = w9 9 w8
10. (c) Give a scientific explanation of the following;: Sx2=1)
Frfafen =t St smen =ik,

(1) Salts dissolve in water
SENIE:R i o i
(i1) Oil does not dissolve in water

éamvﬁﬁﬁﬁw

BIHAR JUDICIAL SERVICE EXAM. 2011
GENERAL KNOWLEDGE

= fagm

TIME: 3 HRS. ML.M.: 150

Note: (1) Marks are indicated against each question.
e (1) o W7 & 3iF o o Ry T & |
Write full form of any five. of the following and depict their
significance in one sentence each.
freAfefad & @ et ois =1 ot forear fafia st -w a9
q ST Aewd e
(a) NATO / 71
(b) GATT / =
(c) IRDP / &113e &> Eto o
(d) UNDP /go T Eto o

1.
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() ITBP / &80 Fo afy, i,

() ASEAN / tfyrr

(g) D-Phil / €t fiper.

In which State are the following places situated and why are they
known (any five)

_ 5
ﬁmﬁf@awmmmﬁmm%ahwm%mévh)
(a) Amritsar / 3T9aoy -

(b) Bijapur / sitsirqz

(c) Kandla / srTgen

(d) Haridwar / 3figr

(e) Sriharikota / iefirer

(f) Renukut / T"J,Hv:&

(2) Raniganj / Tt

Write the names of the States which have the following as their
capital (any five): 5

T Tl <Rt Tt 2, 39 T ffea (9 e
(a) Itanagar / ger R

(b) Gangtok / 7imreie

(¢) Dehra Dun / LR

(d) Shimla / forgqen

(¢) Chennai / 37

() Bhubaneshwar / L

(g) Gandhinagar / MeiA™R : :
Tite the name of the rivers along which the following towns are

Situateq (any five): .

T Wi & am ard, o PR Frefefen R fem §

(W vy
(a) Badrinath / sgtie

b) Deth; / fireen
(c) Kota / =tey

(d) Guwahati / TS

%

g
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(e) Jabalpur / STEeqR

(f) Cuttak / =

(g) Ludhiana / gt

On which coast of India are the following located (any five). 5
frefafan ama % fod w2 W feom ¥ (18 v

(a) Tuticorin /'{ﬁ?"lﬁ?

(b) Kandla / stsen

(c) Ennore / 3R

(d) Cochin / &=

(e) Marmugao /ﬂ"{'a"ﬁ

(f) Jawaharlal Nehru Port / S/oewTe T Ui
(g) Vishakhapatnam / faemardezrs

In which State are the following located (any five): 10
ST F T e, fo frefated fem € (@ oh
(2) Pulicat / gitehe
(b) Nakki / Atant
(c) Loktak ASIETCo
'(d) Zozila / Srsiren
(e) Changula / Sien
(f) Makalu / Heh1e]
(g) Guru Sikhar / T& f¥rax
Mention the nares of the following (any five) 5
frfafed & 9@ s@d (= uiw) |
(a) The founder of Ramakrishna Mission
TS TRE & deurgs
(b) Theosophical Society
(RIS o e £ | B
~ (¢) Secretary-General of UNO
Yo T 3 & HETEiEd _
(d) The last Indian Governor-General of free India
R R S TR
(e) Author of Akbarnama
FHIEM & T
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(0 Roof of the worlg

ERICARET
(©) L%‘;‘ ii% Og";ggli%h%nister o
. Name the authors of the fol
| frefafEd % oRee
(a) As You Like it
U Y I 32
(b) Beginning of the Beginning
o Hw g fanfym
(c) Chitra
(f=m=)
(d) Das Kapital
T Siged
(e) Devdas
ECEEs
(f) Geetgovinda
RIRRIIEE
(h) Glimpses of World History
e ot oce ot
(i) Kamasutra |
FE
() My Truth
AR Y
(k) Saket
BIG
() Wings of Fire
g i wER
(m) Asian Drama
TR g
(n) Malgudi Days
IS S

" Where are the following located? (any ten) 10

g feorg £7 (S )

.

fan Indian State

lowing (any ten).

Wm(@gm) 10 -
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(a) Corbett National Park
(b) Nagarjuna Sagar Project
(¢) Headquarters of Southern Railway
Tieql i &1 GEATad
(d) City of Nawabs
JaTal &1 e
(e) Largest Corridor
Fead HIER
(£ Jawahar Tunnel
SaTEt g
(2) Salem Steel Plant
Tod 2 @
(h) National Environmental Engineering Institute
(1) Tehri Dam
=l |y
(j) Taj Mahal
ISR
(k) Ellora
LIRY
() Silent Valley
(m) Space Application Centre
(n) Chushul
g4

Answer an): .fo\ur of the following in three sentences each:
i‘“ﬂi‘ﬁ' ey A IS W s G e § S
(a) Nobel Prize for Peace in 2

2008§m%%§ﬁéammﬁmw o’
(b) Who is Deep Joshi?

008 was awarded to whom-

{
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(c) What is Vy|p9
el o Az Tlo =y 27
(d) What do you men

azomm—wqmquiuau
Write on/Answer any four of the follow; ing in 20 words each: 10)
ﬁﬂﬁ@anﬁmﬁwww(zomﬁﬁ)
(a) India’s Vision, 2020

TR T 3R (Fewn) 2020
(b) Yashpal Committee Report

a9TaTe "t R
(c) COP is Copenhagen

HY 3 HIYTeTH
(d) Who invented Yoga?

AT 7 efaenr farad feman?
(e) Ashoka

CNICT
(f) Gulf Stream

T W
Write briefly why the following are @mous: (any four). A 10
Frefafea & @ el =R & foug ¥ fafeq fe 3 =0 gfag 2
(%18 =mr)
(2) The Revolt of 1857

1857 =t shilf<d
(5) Split in the Congress (1907)

FG-faereE (1907)

(C) Satyagrahd Movement '

Teamre AR
(dy Indian National Army

Wi et |
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14.

15.
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(¢) Sardar Patel
TER g
() Indus Valley Civilisation
fa=y =rdt gy
(g) The Lal Quila (Red Fort)
SISRENI
Name the following: (at present)
frfafaa & M waa (FdEm /)
(a) The Governor of Uttarakhand
ITEUE T THT
(b) The Chief Minister of J&K
ST 3R HITHR & e
(c) Lt. Governor of Lakshadweep
TG & A= TaR
(d) Chairman of Finance Commission (13th)
e o e & sremey
(e) UGC, Chairman
o o He T
Answer/Write short notes on any two of the following: 10

frfafed 4 ¥ 5l < & ghra 3 A

(a) What are the Monsoons? How are they relevant to India?

T 1 B? A % TR N S I He 87
(b) Forests of India

YA & a9

(c) Indian Minerals
IR @

(d) The Himalaya Region
femrera wiw

. i
Write briefly (in two sentences each) about any four of 6

following:

Frfafed # @ f5f ek & grery o gag § fafaul
(a) Fossils Sftamm™

(b) Vitamins foarfim
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17,

[221]
(c) Proteins W2

(d) Nervous System g .( TEH) oy

(e) Photosynthesis Qﬁﬁm‘r@}f-‘gqq

(f) Soda Water Grer e

(g) Diabetes ety

Write b“eﬂé 2; any f'Ollr of the following: (three sentences each)

ﬁﬂf&fﬁ@ﬁﬁ) Rl = W g o fofed (e @
6

(a) Recession )

=

(b) Sectors of Economy
Jefeeel & Ty
(c) Zero-base Budgeting
JA-3NYR SS{feT
(d) Poverty line
T T
(e) Gross National Product (GNP)
F T SR (Sfe T o)
(D) Sustainable Development
Gad e

Answer the following;:

ﬁ"?ﬁ'ﬁ@'ﬁ@ﬁ?w:

(a) What is the term of Election Commissioners?
T HITRY 1 e R g 82
(b) Who can remove the Judges of Supreme Court?
ST =aTed & Sl BRI Bl Tl T
() Who is real e;iécutiye head of the Government at State level?
T q7 TR 1 ARG TS WS HA B 2
(d) What do you mean by Protocol?
Werrta § o T WA €7
() By whom the Vice-President of India is elected?

W‘ngqﬁwmﬁmw%?

- 10
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() If the President of India wants to resign, to whom ShOUldh

address his resignation letter?
mmam&qﬁwwm% mammw

fepen) uftd T
(g) What is the 93rd Amendment, 20057
93al Hfaur FeEA, 2005 F1 2?2
(h) What is Sarkaria C ommission?
TR e & w7
(i) Who does appoint the Attorney-General of India?
(j) Within what period of time a Central Minister must becomes
Member of Parliament?
avas €2
Name the Capital, Currency and Parliament of the following
countries: (any four) 8

frefafea 290 =) TSuF, 930 9 998 F1 919 ga5d (&M 90
(a) Afghanistan STHMEH
(b) Nepal =drat
(c) Malaysia Aelf¥r=n
(d) Maldives HAleigia
(e) Isracl SEATACT
(H) Bhutan HkwVku
(2) Egypt e
(h) Canada <p-TST
Write briefly on the following: (20 words each)
frefafad | 949 7 fafe’d (w20 o= #)
(a) Patna 91
(b) Bangar and Khadar 9" 3R @rex
(c) Population features of 2001 Census of Bihar
2001 SO T faeR | weE & wer (
(d) Tendulkar Report about Bihar
fer & vy ¥ d<em food

Fergroad)




ME: M.M.: 100
vote: (1) Marks are indicated against each question

, Write a precis of the following passag

- . ) e in about 80 words
add a suitable title to it: words and

: 15+5=20
To be travelling'through the middle of the city as great, historic
and forlorn as Istanbul, and yet to feel the freedom of the open
sea—that is the thrill of a trip along the Bosphorous. Pushed
along by its strong currents, invigorated by the sea air that bears
no trace of the dirt, smoke and noise of the crowded city that
surrounds it, the traveller begins to feel, in spite of evervthing, thi
is still a place in which he can enjoy solitude and find freedom.
The waterway that passes through the centre of the city is not to
be confused with the canals of Amsterdam or Venice or the river
that divides Paris and Rome n two: strong currents run through
the Bosphorous. Its surface is always ruffled by wind and waves
and its waters are deep and dark. If you have tlje current b_ehmc:
you, if you are following the intineary of a city ferry. you m_ll s.e—:i'
apartment buildings, old ladies watching vou from .balcon.i:es a:\

they sip their tea, coffeehouses perched on landing ﬂf‘:‘?m-
children in their underwear entering the sea Just where the D:u elrf
émpty into it and sunning themse:lves on tl} e_‘?oficiﬂz:af:ﬁi;
fishing from the shore, other lazying On_fhe;r_ l\ a;:f}'; 8 traﬁ:x:_‘
8azing out of the sea through_bUt. wmdo“;;“ 1:1::db ai:d slowly, in
tall apartment buildings looming in the BACRETOHIE 07 s
the distance, Istanbul in all its confusion—mosques. poo

5

brid 1 d towers.
ges, minaretes and to N
| , ribing how you exceptio fare in

) Write a letter to your father dese of the Bihar Public Service

the competitive examination %)
Commission,

) or

L Write a Jetter to the editor of 3 newspaper expressing your concem

OVer the “brain brain’ cAUSINg exodus of the voung Indian talents.
ram rs
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(Do not write your name; sign. XYZ)

Read the passage given below and answer any four of the
questions that follow: . ' | Sx4=9

Traditional family gave the individual a sense of security ang the
individual identified himself as a part of an unbroken chain which
went back to his ancestors. The individual could associate himself
with a house or a piece of land, and something of this notjqy,
survives in what we call our ‘native’ place or “permanent’ addres
Quite often the individual followed a profession or ran a businesg
which successive generations in his family had handed down,
Growing up withina close-knit group of kin or relatives performg
a socializing function and creates a feeling of mutual trust. The
family fulfils other universal needs besides that of physical and
cultural identification for the individual. These are needs like sexual
satisfaction, reproduction, child-rearing, education and economic
survival. In modern times there have bee many changes in social
conditions which have affected the institution of the family. The
family is no longer the unit for production. Production is now
undertaken by industrial and commercial institutions. At one time
children used to be regarded as an economic asset, since they
worked with the adults and started to earn very early. Today
even children from poor families spend more time in schoos

provided by the State and are regarded as a liability rather than
an asset.

In most countries women today play different role; they ar no
longer confined to the home. Men and women together share the
responsibilities of child-care, education adn earning a livelihood
The close circle of kin related to the family by blood or by mart la;a’-z
is not as close as it used to be. This is largely becaus® 3“,?111
members of a family no longer follow a trade or profE_SSf?\_‘
togethér, nor do they always live in close physical pl.-o,\’lml j
Marriages are no longer arranged exclusively by families: ¢ o
the individuals have a greater freedom of choice. Divore ® .
uncommon. All this has added an element of instability =

future of the family as a social institution.

(a) What are children regareded as liability today?
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o) what individual needs does the family serve?
o why is the family unstable today?

¢) What social function does the family serve?

(e)In what way has the women’s role changed in most countries?

| Translate one of the following passages into English: 10

(1) 5 Tl e R F gt fawa St o gwew T o
wafa &l R Te |9 IR o1l anea § frow % G | e
7 GECIERT ST ST @1 o1 o vRerd ueh Wifdet <91 @1 e
= 9 1 foly & &d 9, W Y& a1 Y& 9 8l T8 HAH
e o T Tieerel 39 9 61 faty w0 gEfa d O % 9%
0 7 gt T 9 iR T T e o e & e
& Bfdel <0 B

(2)Rmmmﬁmﬁaﬁ@mm@w4ﬁqﬁ
R & a7 e T Sl 9 fr € sf e g, 9d
mﬁaﬁ%lmmmﬁﬁwwﬁmmﬁam
W?ﬁm agﬁmﬁaﬁamg Eutﬁmaﬁﬂﬂm

b’l

+ Choose one of the two words given within brackets following
each sentence and fill in the blank w1thm the sentence meaningfully
(any five) Ix5=5

(a) The car collided with a tractor on the roz‘id.
(stationary/stationery)

in the passage.

®) Ty to explain the
ry to explam e (allusion/illusion)

(©) - Do not " me, or I shal lose my temper.
| , (aggravate/provoke)
@) He bore false . ' (witness/evidence)

(&) 1told him to write but he : (denied/refused)

(f) . The dri lied the and the carjumped.
L IeCUeREER (breaks/brakes)
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L
!

Frame sentences with the following: (any five)

(a) A wild-goose chase
(b) Lookdownupon

(c) Beat about the bush
(d) Cometo light

(e) Face the music

(f) Rundown

Rewrite the following passage with correct puncutation maris,

Ay

using capital letters where necessary:
an important football match was to take place near a large towq
one saturday in september and an excursion train was taking
people to see in the train went very slowly and had numerous
stoppages after a time it reached a station called march and wzs
brought to a stand then a porter went up and down the platform
calling out march march.

N
—

Rewrite the following as directed: (any five) 2x5=1(

(a) The air of the plains is not as cool as that cf hills.
(Use the comparative form of “cool’)
(b) Do vou need a car?” He asked.
“No,” was my answer, at which he frowned.
| | (Change into indirect speech)
(c) Kunwar Singh was seriously ill. Corbett heard this. He was
much alarmed. He did not lose all hope.
(Join into a complex sentence)
(d) The followers of Siraj who often praised him to his face
now deserted him as they hated his cruelty.
(Split up into four simple sentences)
(e) Didyoutell him the story? (Change the voice)

(f) The doctor was consulted.
: : - e
(Use ‘advice’ as a noun to rewrite the sent¢™
) -l
without changing the meant=
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GENERAY, HIND
A% ﬂ‘tﬁ’ UU"TI’ q: ST s 1 f;flj_ ¥,
addl Ue @ T i,
y, ol W (a9 Gy (g,
(&) famdl =i i
() 4z G S 211
() =n9fE faran yope
() A FE F anfaa fuafy
(%) AT ¥ dzdl Ygum 47 iy
(4) Z2z9 &1 mianfeg a9 gam
(%) ¥Ed7 9rd 4 {0 &1 4z
(%) \ifee =07 795
(z) 70 fum =fa
2, fafafaa amen 0 1 0 oo gmEf =1 e o oo
frevran frada - 10
(F) 374 el T | 42 51 (50 a3
(9) Td 21 97 a1 AuEA o (AFE A
(M) °7 W[ T TR T e WE A T wE (62 9
() = ZZA 7 A e AR T (HETE)
(")wwmmwwml (HHAATTF )
(?)mawqfq—nmaz%ﬂﬂmmn (H2ZATTF )
) ¥ Ifen gl g | ATAATAE )
(a)mﬁmmw faer 721 @1 2 (famrmam)
3. (W)ﬁmﬁmqnfvmmnm?‘ﬁuwwm 5
(1) foft =1 mgfa @ =0 T Tl a5
(2). forad: ofa #1 9 @ T 7l
(3) o 4 ™
(4) wgm &E & T8
(5) 7% ¥ wwg T 1A

40y



(6) <t weer aehnl ol
(7) < et el
(8) s suinl wied |

4. Tt wier ARl W Y et fafa
(1) SHEAl ¥y & AT 1 U w8
(2) WRa 3N oTAfRERT & ST elehdd |
(3) S aRa @ el W 3L @ wna 9
(4) z@ A & few w1 gerst @
(5) ¥R W ud wel @ fahal 41 gHm )
(6) d% fgae ®U Q A%997 F @I ol
(7) gt arfienier gl o wig <T@ ?)
(8) WomE & < W= W UH "o o

5. T=falen qeet/ased ¥ @ fa=) e o 31l w1z T

3= ol " WY hifeu— 0

(3) FHAR X @ 1
(4) sTrel ¥ el g
(5) 9= g
(6) "R-TR e
(7) YA H=Em
(8) SEIE HEAT
P %ﬁﬁwﬁﬁ@ﬁ%ﬁwd«a@mﬁ@mﬁ
HHHART| 10
: 37erar
I ¥ 9 foie-fa fifm 2R 2 foar @ aqesy
7. ﬁﬁ%ﬁﬁwﬁ%}ml 10
| ST
w%ﬁméﬁﬁ%?ﬁw@%@l | 0
8. Wm-ﬁﬁmﬁﬁqﬁ AR 10
| G i |

W*WWW : ' i
Y %, S 3wy
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ONSTITUTIONAL 1 pyy
ENGLAND
A 3ﬁT sqéifg aﬁ H’&a'rf\:{a; %&J

' : M.M:: 15¢
yote: All Questions carry equal marks
7l T % A wmE Y
Answer six questions, Selecling three from eachy Group

Wmﬁﬁqﬁ?ﬂéﬁ@%@:gﬁ%m
<l -
GROUP-A
Qog-H
| What are the distinguishing features of Unitary and Federal
Constitution? Do you agree with the view that the Indian
Constitution is federal in nature? Discuss.
T U1 FHlcHeh HiduM & fafme qeon s €2 = a9 39
W Head ® o vRdE Ay &1 uea geredd €2 faae
I .
% Discuss the meaning and scope of fundamental right to “Equality

before the Jaw and equal protection of the laws within the territory
of ’India’. Also discuss the basis and test of reasonable

“lassification under Article 14. . o

R E"Wﬁi%rﬁia%mam@ﬁfua%w?aizi
' g il Tg=R 14

T e o i @ ol e

i S . 1ative relationsb - g
D'SCUSS in brief the legislative rel Parliament legislate on

> an
hen and in what cnrcumstancc;s. c

"alters enumerated in State List o =t ferda it aﬂ:

amake a proclamation

ident of Indi on? What

' What grounds can the Presrtic le 352 of the Constitut

Nationg] emergency unider A



“n

: . ) . ves. IS
. -What is ‘royal prerogative’? Discuss executive prerogative>

. TR & Y9 ¥ @ed 2?2 g9eEd |
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are its consequences? Discuss with reference to the re]evam
amendments and case law on the subject.

ff oMY W WRa o1 Treufd SiauH & Agess 352 & sy
fSip Wmmaﬂme?mwmmgl
wrafies el ud 95 fafy & w<d 9 fad=T w5k,
Discuss the procedure by which the Constitution of India cap bé
amended. Can Parliament take away or abridge the Fundamenty
Rights by constitutional amendments? Discuss with the help of
relevant cases.

RATE. Wfaur § w1 ik w1 aviA FifSE @ g
Hawmfe weeE gR wifes ARl F1 T aga 1w
THA B2 GO i i Hermar 9 fag= wited

GROUP-B
‘ QuUs-=
What is meant by the expression ‘Rule of Law’? Discuss the
characteristics of ‘Rule of Law’ as given by Dicey.

oty =1 s’ weErae w1 F=n a1 B2 T g R W

1 I & &l 1 fag= Fifsa|

“The doctrine of Sovereignty of Parliament is said to have ousted
the powers of judicial review of legislation in England.” Discgss.
Do you subscribe to the view that Courts have undertaken review
of legislative action by employing various devices?

“dug wt wEa @ fage 3 gwis d faumm @ A0
AR i g eI o fen 21" fad=n sl #
T 79 ForeR § ged § o et 3 fawmh et & e
FI gl wgfeE | e R e 82

; i s . e (me
the Queen free to exercise her prerogative in appointing the I.’f !
Minister and dissolution of the House of Commons? Explai™

el RATHHR 1 €7 hreffer wenfemrt @ e
wﬁmmﬁﬁﬁﬁgﬁa@m‘mnmaﬁﬁﬂﬁ“ﬁ
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Tint s meant by “Parliameoentarg Dy, s -
9, M) I : 1l ""'“Llll«lly Privileges™ Can the House of

Commons pumshits own members for breach of privilege? What
penaltics can be imposed on the members? Discuss,

LAl i‘\—('«?“l"{li"‘ﬁl"-hl{' ARG EI WA T) }i’) PRI GO 2194 Ja2g] Fl
el B fer afoey w1 wd 27 e w5 e @
) Sl el ©7 "ui s,

(0, “The strength of the English Law Jies in its provisions of adequate
remedies for mostinfringements of individual rights.” Comment
and discuss the statement in the context of personal liberty in
ngland.
ot Al @ etfasmor @ el § wafa soem
et gie faf ) nfa 21" 59 FHem W s 1 Sl
A & = o feooft wifsE) |
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LAW OF TRANSFER OF PROPERTY AND
PRINCIPLES OF EQUITY INCLUDING

THE LAW OF TRUSTS AND
SPECIFIC RELIEF

F-sraor fafa v | fagra, =ra fafy oy

TIME: 3 HRS. M.M.:

fafore s wfea

150

Note: All Questions carry equal marks.

1.

aft ge i % T wEE 2

Answer six questions, taking three from each part.

oI 9T " I YAl B I9 &d gU el 98 W & I 7

PART-I |
TAT-1

What do you understand by Transfer of Property? Explain the
law relating to transfer of property by an unauthorised person.
A & AT G AT T GHHAd €7 U G oA oo
i & =0 9 gEf-ad $E S fag=m sifa
With the help of illustrations, explain the ‘Doctrine of Election’”.

Also discuss its essential conditions as laid down in Section 22
TP Act, 1882.

‘Frate & g’ #1 < ofed fagem Fifag gt
fafy, 1882@%35$meﬁg@vﬁmw
AT iUl
What do you understand by Licence? How is it different from
Lease? Explain.

Wﬁémw%@wmﬁf&wa@fﬂa%mﬂ{
Hiwq|

[av
- What is “mortgage of immovable property’? Discuss the 12

relating to redemption of mortgage.
‘TorER FEf 1 S T B 82 S @
FEf[ SHF 1 SR i)

@nﬁq




5,

6.

s |
.

10,

Define Sale and explai, the essent;
ale and exy sentia
X-transters o his wife 4 |

I conditions of a valid sale.
of her future maintep,

9T Tashg & 3 : o
fael = IS X sy gasy - ATTYTF: 97!

’ ‘ ¥UI e ] S
F1 AT qfqey 1§ 33 1W~szﬁﬂfqaﬁ3§rfaa’ﬁ¢

.‘.‘g, . a .
AU LiE R R pe— fsFa FEeem? sy swe
&1 fad=m =Fifsm

PART-II
HAT-2

Discuss nature, origin and growth of Equity.
A F TR, I AR fam 1 s I
Explain the following maxims:
frt g % omen b
(a) He who seeks equity must do equity.

S | HTEdl B39 W R =ifEu)
(b) Delay defeats equity.

faera g =1 gafsd & 2
Define and explain Trust. How does a trust come to an end? \
= 1 afrifad w7d g SEe! e Sive) =W fee @ |
T BET 27 S
Explain the rights and duties of a lrustee.
W%%ﬁumgrﬁﬁt'mﬁﬁﬁéﬂml_ |
What do you understand by inj unction? Explain different kinds of
i 0 _m e s
ggg“;n'mwmég?m%ﬁfmmm%ﬁm
ity




